DEPARTMENT OF PUBLIC WORKS MADISON, WISCONSIN

						Date	2/5/2008
Contract Name Chamberlain Ave. Recon		nstrution		Change	Order Number	CO 3	
		endall	To	Public Works Co	ntract Number	tract Number 6022	
		Ave. Reconstruction		O	riginal Contract F	Project Number	53W0334
		Ass'ment.District 2007			Change Order F		
					.	•	(of change order)
Change Orde	er Description	Rock Excavation -		ES01-58275-810332-00-53W0334			2224
		Mismarked Lateral			ESU1-302/3-0	10332-00-33440	1334
					*CS53-58250-8	10355-00-53W	0334
Contractor:	Capitol Unde	erground				<u></u>	
		nter St. suite 105					
	Middleton V	/i 53562					
							0
You are auth	norized and di	rected to make the followi	ng changes	s in this c	ontract:		
Item No.	Description		Est. Qty	Unit	Unit Price	Total Add	Total Deduct
	1 Rock Excav	ation - See Attached	1	LS	24,646.90	24,646.90	0.00
	2 402 Grand - Attached	· Mismarked Lateral - See	1	LS	351.90	351.90	0.00
		Duct package - ed	19.5	hrs	703.80	13,724.10	0.00
		0 Block Duct Package -	23.5	hrs	701.92	16,495.12	0.00
*	Speed burn		1936	SF	10.10	19,553.60	0.00
					-	0.00	0.00
				<u> </u>		0.00	0.00
Sub Totals			L	<u> </u>		74,771.62	0.00
Grand Total	ŀ						74,771.62
	י il Contract Sui	m was					1,282,895.20
		Change Orders					12,568.15
•		o this Change Order was					1,295,463.35
	ct Sum prior a ct Sum will be	–				Increased	74,771.62
		Including this Change Ord	er will he				1,370,234.97
The Contra		OI WIN DO			Increased	20	
		as of the date of this Cha	ange Order,	, is			
Contractor	r's Acgeptano						
	S ACEPTAIN	1					
By Title	20.5	7=414					
Date	<u> </u>	ENG. - 88					
			, <i>1</i>				
		verse side før instruction	ns) //			Date	e 5-1-08
	tion Inspector					_ Date Date	
	tion Superviso	or Way The				_	e 6/5/08 e 6/26/08
Engineer		Mulkin	<u> </u>			Date	
Board of	Public Works					Date	▽

KENDALL CHANGE ORDER 3

ROCK EXCAVATION

DATE	COST	TIME
7/20/2007	\$9,809.80	2
7/23/2007		

7/24/2007	\$6,599.50	1
7/25/2007		
· · · · · · · · · · · · · · · · · · ·		
8/13/2007	\$1,806.40	1
9/13/2007		<u></u>
9/14/2007	\$2,499.20	1
LATERALS	\$3,932.00	1

TOTAL	\$24,646.90	6.0
	······································	

CONFLICT WITH ATT DUCT PACKAGE 2500 & 2600 BLOCK 2700 BLOCK

HOURS	C	OST/HOUR	TOTAL
	23.5	\$701.92	\$16,495.12
	19.5	\$703.80	\$13,724.10

TOTAL \$30,219.22

LATERAL AT 402 GRAND

DATE	HOURS	COST/HOUR	COST
8/9/2007	0.5	\$703.80	\$351.90

DEPARTMENT OF PUBLIC WORKS MADISON, WISCONSIN

						Date	2/5/2008
Contract Name Chamberlain Ave. Rec			onstrution	Change Order Number CO 4			
Ass'mnt, District 2007 I		Kendall		Public Works Co		6022	
		Ave. Reconstruction	ľ	Or	iginal Contract P		
		Ass'ment.District 2007			Change Order F		
							(of change order)
Change Orde	er Description	27" Missed in original b	id Items	id Items		ers for this Char	
	•	and Changed size of R	CP from		ESTM-58270-8	<u>10381-00-53W(</u>	0334
		original plan					
	O a stall lad	d					
Contractor:	Capitol Undo	erground enter St. suite 105					
	Middleton V						
		,					0
		rected to make the follow	vina chanae	s in this co	ontract:		
tem No.	Description		Est. Qty	Unit	Unit Price	Total Add	Total Deduct
	1 27" RCP		16	LF	69,00	1,104.00	0.00
	2 14 X 23" RC	DP	78	LF	69,00	5,382.00	0.00
	3 19" X 30" R	CP	398	LF	76.00	30,248.00	0.00
	4 18" RCP		78	LF	47.00	0.00	(3,666.00)
	5 24" RCP		398	LF	49.00	0.00	(19,502.00)
		lict - Missing ULO	1	LS	1,166.40		0.00
	6 Stottii Com	Hitt - Missing OLO				0.00	0.00
				<u> </u>		37,900.40	(23,168.00)
Sub Totals						37,900.40	14,732.40
Grand Total							1,282,895.20
The Origina	I Contract Su	m was					87,339.77
Net Change	by previous	Change Orders	_				1,370,234.97
		o this Change Order was	Ď.			Increased	14,732.40
The Contra	ct Sum will be); 	dor will be			1110104004	1,384,967.37
		Including this Change O	del will be			Increased	2
The Contra	ct Time will t	oe (days):	hango Order	ie		1110104004	
The Date o	t Complejior	n as of the date of this C	nange Order	1 10			
Contractor	's Acceptant						
By	3 May May 1	7			>		
Title	Sont E	W.G.			_		
Date	5-1-0						
				9 -			
City's App	roval (see re	verse side før instructi	ons)	•		Det	e <u>5-1-08</u>
Construc	tion Inspector	1	ay1		viviani.	Dat	
	tion Supervis	or <u>'///////</u>	TLJ_			_ Dat	- 1 to 1
Engineer // //			$\sim /$			Dat	
Board of	Public Works					'Dai	·

DEPARTMENT OF PUBLIC WORKS MADISON, WISCONSIN

						Date	2/5/2008
Contract Name		Chamberlain Ave. Reconstrution		Change Order Number C			CO 5
		Ass'mnt. District 2007 Kendall		To Public Works Contract Number			ACCUMANTAL CONTRACTOR OF THE PARTY OF THE PA
		Ave. Reconstruction		Ori	ginal Contract F	roject Number	53W0334
		Ass'ment.District 2007			Change Order F	-	
					~	•	(of change order)
Change Orde	r Description	Changes in original plan	for		Account Numb	ers for this Cha	nge Order:
	·	location of san on Cham	berlain	*	ES01-58275-81	10332-00-53WC	015
		and changed size of stor	m				
		structures on Kendall		XX	ESTM-58270-8	10381-00-53W	0334
				n r			
Contractor:	Capitol Unde						
		nter St. suite 105				·····	
	Middleton W	/i 53562					
							0
	·	rected to make the followi	· · · · · · · · · · · · · · · · · · ·				
Item No.	Description		Est. Qty	Unit	Unit Price	Total Add	Total Deduct
<i>*</i> 1		Water Valve SAS -	1	LS	4,784.60	4,784.60	0.00
*	See attache	<u>d</u>	,		.,		
						0.00	0.00
/ / / / / /	S-1 - 2' X 4'	SAS	1	EΑ	3,032.00	3,032.00	0.00
l							
< 2	S-12A - 4 X	6.5' SAS	1	EA	3,032.00	3,032.00	0.00
** 3		•				4 422 22	
/** / 3	Deflect 2" ga	as main	1	LS	1,428.60	1,428.60	0.00
/ /	11 intel	···············	4	IT A	4 000 00	0.00	(4,020,00)
	H Inlet		-1	EA	1,030.00	0.00	(1,030.00)
	4' x4' SAS		-1	EA	1,933.00	0.00	(1,933.00)
	7 74 070			<u></u>	1,500.00		
Sub Totals						12,277.20	(2,963.00)
Grand Total							9,314.20
The Original							1,282,895.20
_	- 1	Change Orders					102,072.17
	•	this Change Order was					1,384,967.37
	t Sum will be:					Increased	9,314.20
		ncluding this Change Orde	er will be				1,394,281.57
	t Time will b					Increased	2
The Date of	Completion	as of the date of this Cha	nge Order,	IS			
Contractor's Acceptance							
By Title PROJ. ENG.				<u> </u>			
Date <u>4~30~08</u>							
City's Approval (see reverse side for instructions)							
	on Inspector	or so side for this delicit				Date	5-1-08
	on Superviso	r - / / // /				₩	6/5/08
Engineer		The Board					6/26/08
Board of Public Works						Date	